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for (int i = 0; 1 < n; ++1i) {
do somethingl () ;
for (int 3 = 0; J < n; ++3)
if (breakout condition)
goto final;
do_something2 () ;
}
}
final:
do_something3 () ;

inside:

do_something ()

if (was_an_error())
goto out;

do_something else ()

if (was_an _error())
goto out;

goto inside;

out:

cleanup () ;
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#include <iostream>
using namespace std;

void methodl () {
try |
cout << "METHOD TRY" << endl;
throw 1;
} catch (int ex) {
cout << "METHOD CATCH" << endl;
throw 2;

cout << "END METHOD" << endl;
}

int main () {
try |
cout << "TRY" << endl;
methodl () ;
} catch (int ex) {
cout << "CATCH " << ex << endl;

}
cout << "FINALLY" <<endl;

return 0;

int s = (1 << k) - 1;
while (!(s & 1 << N))

{
// do stuff with s

int lo = s & ~(s - 1); // lowest one bit

int 1z = (s + lo) & ~s; // lowest zero bit above lo

s |= 1lz; // add lz to the set

s &= ~(lz - 1); // reset bits below 1z

s |= (1lz / lo / 2) - 1; // put back right number of bits at end



